L.O. To subtract different units of measure.

Please read over ‘'Task Three Help Sheet - subtracting decimals’ that can be
found in our Hurdling Hexagons folder to remind yourself of the column method
using decimals.

I would then like you to complete Section A below. Please remember to include
the units of measure in your answer.

Section A

54.2 litres of water




Answers — Section A

1.27m
15.6cm
3.91 km
32.7 litres
2.76 km
1.83 cm
1.19 litres
34.4 kg
2.24m

. 75.9cm

. 1.83 kg

. 36.6 litres

. 15.5 litres
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If you feel confident and you would like to attempt the extension task, move on to Section B.



Section B




